It Won'’t Be Long.
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John Lennon and Paul McCartney.

= Copyright 1963 Northern Songs Limited, 19 Upper Brook Street, London W1,
All rights reserved. International copyright secured.

(Organ: Registration No. 2)
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1.Ev-ry night when ev - ’ry - bod - y  has fun, Here am [
2.Ev-’ry night the tears come down from my eyes, Ev-’ry day
3.Ev-’ty day we’ll be hap - py I know, Now @ know that
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sit ting all on my own.
Ive done noth - ing but cry. It won’t be long, yeh, yeh,
you won’t leave me no more.
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yeh. It won’t be long, vyeh, yeh, yeh. It won’t be long, yeh, Till
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I be - long to you. "Since you | left me, I'mso a - lone;. Now you're
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com-ing, you’re | com-ing on ' home, I'l be good like I know [ should. You're com-ing
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home, you're com-ing home. Coda }\ be-long to —— | you.
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